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PART -1

Science fasm=

1. Potassium Permanganate is used to 1. oefRe wHTHE T TN IT i J[e8 i
purify water as it is- & foTu fomam StTar &, it T=-
A. Sterilizing A T R
B. Oxidizin o
N9 B. AToriehToT LT &
C. Reducing
D. Leaching C. ST Tl 2

D. R sars

2. Purest form of Carbon is- 2. oTe T [EETH T 8-
A. Coal B. Charcoal A, FIEFT B. 9IS
C. Coke D. All of the above C T D. 37dE auft
3. In order to obtain a magnification of, 3. {adet gl o G -0.6 (AT 0.6) T
-0.6 (minus 0.6) with a concave mirror, ST ITH 0 o o7, I Rl T@T ST
the object must be placed- . >
A. At the focus ;
B. Between pole and focus A o
C. Between focus and centre of B. et 37 ik o sffer
curvature C. Wishe 3T sl g o si=l
D. Beyond the centre of curvature D Tradza
4. Least count of vernier caliper is defined 4. iR FAluT o STeddqHieh i TRy fomm
as- STTaT 2-
A. Ratio of a values of a main scale A. T Tt ¥ T T i A S
division and a vernier scale division © MR-
B. Difference between values of a main o T
scale division and a vernier scale B. &I %hl o T @M 3N IR &hcl
division Toh @M o HHT T 3T
C. Product of values of a main scale 3 S
division and a vernier scale division C. ﬂ@@ﬁﬁ?;?@ﬁaﬁt w
D. Sum of values of a main scale &b 17
division and a vernier scale division D. &I Thd % T @ HIT A Thel
Ueh @1 o HET T T

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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Which of the following is not a pure
substance?

A. Mercury

B. Distilled Water
C. Nitric acid

D. Air

Name the hydrocarbon from which
ethanol is made-

A. Ethane
B. Methane
C. Benzene
D. Butane

Plasma is a mixture of-

A. Free electrons and ions
B. Free electrons only

C. Free radicals and ions
D. Protons and neutrons

Which of the following is unitless
quantity?

A. Displacement gradient
B. Pressure gradient

C. Force gradient

D. Velocity gradient

Which of the following experiments led
to the discovery of neutrons?

A. Discharge tube experiment

B. Alpha ray scattering experiment
C. Chadwick’s experiment

D. Oil drop experiment

frreferfiae o & =i | 37 vared T 2
I

TG S

B HECUEE

g

3G BIZSIhTs b1 A1 ST fore | TIHTA
ST 8-

A, 39

o0 W »

freferfaa & @ st it af3y fommeda 22
fereenma yaroTar

TS YUTT

ST ST

O o w >

AT J0TdT

frfafaa & & fore s & =g i @is
RV

A. el e s

B. 31T fohor JehIvi ST

C. =i =y

D. i3t ST T
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10.

11.

12.

13.

A concave mirror of radius 30 cm is 10.

placed in water. It’s focal length in air
and water differs by-

A. Ocm
B. 15cm
C. 20cm
D. 30cm

A body of weight W is suspended from 11.

the ceiling of a room through a chain of
weight W, . The ceiling pulls the chain

by a force-
A W,

B. (W, +W,)/2
C. W,-W,
D. W2+W1

Which of the following is not a 12.

characteristic of displacement?
A. It has magnitude and direction

B. It can be equal to or smaller than
actual path covered by object

C. ltcan be zero
D. Itis always positive

A positive charge is moving towards a 13.

person. The direction of magnetic field
lines wrt to that person will be in-

A. Vertically upward direct

B. Vertically downward direction
C. Anticlockwise direction

D. Clockwise direction

30 Tt e &1 STadaet gUr I A T
STTCIT 21 BaT TR Tt 3 geehl hishet i
ST T
A. 0cm
B. 15cm
C. 20cm
D. 30cm

IR W, &1 T fig u W, T Sisit
TTET § Ush hHY ohl o & fHeiferd o fean
TRIT 81 B gRT SIS T ST e fored
3U S I Wil 8-

A. W,

B. (W2+W1)/2

C. W,-W,

D. W, +W,
frfaRad & & &= 4 foreemaT 1 aeqor
T -

A. 38T IiETT 7T fewm ST @

B. e %] g a9 [T T SRefare 79
TS T 3G BIET & GoheT &

C. 3HeR! U I & kel &
D. ¥ T gHTcH 81T &
T ETCHE TR U SAfh i 3R G &

31 9w e 3 A < 2 v
fe 2.

A. daad FuL e
B. cead = it faum
C. amrad feum
D. gf&omad fasm
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14.  Chlorine ion is ------- charged. 14, FARIT AT --mm AT BT Rl
A. Positively A. YR
B. Negatively B. SO
C. Neutral
D. Sometimes positive sometimes C
negative D. T eHTeHeh el B0
15. Which of the following non-metal is 15. {3 H ! €T S7uTq SRl I H g R Tl
kept immersed in water? STt 22
g\. \FivréltshPho;phorus A SRR
. Red Phosphorus
P B. T hRE®HRH
C. Sulphur
D. lodine C. dH
D. STREN
16. Assertion A : Cannot see the distant 16.  S7reRem A : Ui %] hl 98 &9 § T
object clearly. g gohdT|
Reaso_n R : the far point of an eye SR L R A s 1 ar S
suffering from myopia is less than ) a0
infinity. ST § Y 2
A. Both A and R are true and R is the A. A 3R SHI T & R, A i @t
correct A explanation of A ST
B. Both A and R are true but R is not ‘ S
the correct explanation of A B. A P:;?gw% R, AT EEl
C. Alistrue but R is false
D. Both A and R are false C. AHTRTR IHAY
D. A 3R IHI 38T &
17.  what is the structural geometry of 17. CH, i wearedss sanfafe om 27
CH,y? A. SEEAHT B, TdHARE
A. O_ctahedral B. Tejtrahedral C. D. 5
C. Linear D. Trigonal planar
18.  Which one of the following is example 18. fo=fcIfad o & i |7 Ush YHTeATIRE e ST
of Thermoplastics? ISTE0T &2
A. Polythene B. Nylon A TR B. Tl
C. Acrylic D. Polyester ' ' .
C. ufshfer D. difefueeX
SPACE FOR ROUGH WORK / T &t & forr sre
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19.

20.

21.

22.

23.

When a ray of light goes from one
medium to another, there is-

A. Always a change in its speed as well
as direction

B. No change in speed and direction

C. A change in speed but no change in
direction

D. A change in direction but constant
speed

If P,Q,R are physical quantities, having
different dimensions, which of the
following combinations can never be a
meaningful quantity?

A. (P-Q)R B. PQ-R

C. PQIR D. (PR-Q?%)/R
The highest quality of coal is-----
A. Peat

B. Anthracite

C. Bituminous

D. Lignite

The chemical formula of rust is-----
A. FeO

B. Fe,03

C. Fey,0y4

D. Fe-(OH),

Which compound gives colour to the
cement?

A. Lime
B. Silica
C. Iron oxide
D. Alumina

19.

20.

21.

22.

23.

STl eI fohTuT Ueh HTEAH H g8l ATead |
STt &, -

A. 3Gt TIf 37 fEmm 41§ wed aitedd
BT e

B. e R fewm & 18 ufterd= =t

C. Tfd ¥ uftads aAfer feem o 18 uftada
Tl

D. feem o ufgds fer Fraa nfa gt 2

afE P,Q,R STHT-3TeHT famret aredt sifaen

afyrt 8, @t f=fefaa o 9 =i a1 geem

et oft wvefer Tfsy Tt &Y Tehar 27

A. (P-Q)R B. PQ-R

C. PQIR D. (PR-Q?)R

I T ITaaH T[T B-nmmmv
A. T

B. TR

i< T FfTres €fitie o T 3T 82
A. T

B. fafcten

C. I JHAHES

D. TeFfr
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24.

25.

26.

27.

Which of the following diagrams 24.

correctly shows the magnetic field
produced by a current-carrying wire?

A , B .
C ] D ]
C &
GEONINCED
A A B. B
C. C D.D
The frequency of electricity produced 25.
by DC generator is equal to-
A. OHz B. 50Hz
C. 100Hz D. 200Hz
In a Food Chain Decomposers are called 26.
as-
A. Producers
B. Primary Consumers
C. Secondary Consumers
D. Recyclers
Bio-gas contains upto ------- % of 27.
Methane.
A. 25% B. 75%
C. 35% D. 65%

frrefarfiaa & & i |1 o7 gwETt )
ST Icq~ eIhig &1 I el &7 S0iar 87

A B

C D [
! t
€ €
CEORN G
A A B. B
C. C D. D
DC S R Jearfe forsreft 3t sty
S B &-
A. OHz B. 50Hz
C. 100Hz D. 200Hz

T @l @ § STTEE ohi T hal STt
&7

A. SIS
TTerfHeh STHH
fodtore Suvicht

O 0 o

CI D c e E— % TR HIT BT 2

B. 75%
D. 65%
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28. A carpenter, while driving a screw 28. ush g | G HIETS % AIohel o [k H Ud

through a wooden block, of thickness TS BU 3EdT & 36 3O 26 SRS & fofw
1cm, observe that he has to rotate the : > ‘
screw 20 times for the purpose, the pitch 1 20 SR 2 8 A fr e
of the screw is- A. 0.1cm B. 0.01 cm
A. 0.1cm B. 0.01cm C. 0.05cm D. 0.05mm
C. 0.05cm D. 0.05 mm
29.  Which of the following reaction is used 29. wm-Ad W § g @ o fha
in Black and White photography? 7RISR o7 ST foRaT STTaT 29
A. Combination Reaction FNR S e —
B. Decomposition Reaction
o _ B. s ST
C. Displacement Reaction
D. Oxidation Reaction C.  fereeiTeet sfdfsfe
D. 3ATerftertor gfdfskam
30.  As the temperature of the conductor 30. =Ttk T ATIH &6 ST UL, $Heh Tieier i
increases, the graph showing the Ry=TaT =1 ST 1T T B-

variation of its resistance is-

‘ :’ R
(@ R (a)
T T
1l
R1‘ R
@) (-]

_————T.' T
\ b
N R
©) / (<) -/
S . Jhatl
he———

T
T
F'y
F'y
R R
@ : “” N
T
T
A. a B. b A a B. b
C ¢ q C. c D
SPACE FOR ROUGH WORK / &% &Td & for&r sre
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31.

32.

33.

34.

35.

Which of the following has the strongest
interparticle forces at room temperature?

A. Oxygen B. Water
C. Bromine D. Iron

Energy and Nutrients enter a community
by the way of-

A. Producer

B. Consumer
C. Scavenger
D. Detritivores

Which mirror is best suited for a solar
cooker?

A. Plane mirror
B. Convex mirror
C. Concave mirror
D. All of these

Identify the decreasing order of specific
charges of the particles: electron(e),
proton(p), neutron(n) and o particle-

A. &p,na
B. p.en,a
C. &p,a,n
D. h,a,p.e
Which one of the following medical

condition caused by the high exposure
of radiation?

A. Kidney stone
B. AIDS

C. Mutation

D. Blood Pressure

31.

32.

33.

34.

35.

frreferfa o & foras s 3 aromH
HoTH HSTS[q STThUT ST TR &7

A. TS B. &1
C. s+ D. &

fepelt e # St SR divep qedl fohe
AT & TR R 27

B. SUMRH

C. UHTSeh

D. daferd

G R o6 ToT i |1 gdor walfferes U
T 87

A. gudad gaor

B. A guur

C. 3Tadat guuT

D. 9 g ot

T o fITITE AT o Ted shY i TeaH:
AL (), MM (p), g (n) 3 o HII-
A. &p,na

B. p,ena
C. ep,o,n
D. no,p,e

freferiaa & & s o fafercar feufa
farfertor & 3=a SiRaw & ror Sidi 22

A. &I Tud
B. TgH

C. Scaf@Eda
D. THA™

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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36.

37.

38.

39.

40.

41.

In a vernier caliper, 19 main scale
divisions are divided into 20 equal
divisions on the vernier scale, what is
the least count in mm?

A. 0.02 B. 0.1

C. 0.05 D. 0.95

The boiling point of water at sea level
Is-

A. 0°C
C. 373K

B. 273K

D. 273°C

Which of the following, does not alter
the rate of chemical reaction?

A. Temperature

B. Pressure

C. Concentration

D. None of the above

Resistance R=V/I, V = (100+ 5)V and
| = (100 + 0.2). Percentage error in R is-

A 7% B. 3%
C. 2% D. 5%

The work done by the external forces on
a system equals the change in-

A. Total Energy

B. Only Potential Energy
C. Only Kinetic Energy
D

. Neither Kinetic Energy nor
Potential Energy

Which non-metal is found in liquid state
at room temperature?

A. Mercury B. Bromine
C. Sulphur D. Sodium

36.

37.

38.

39.

e S A Tqt H {& Tohed o 19 ST ot
I Tohel WX 20 SISR WA H oo
fopar StraT ®, frdt § Steaawies = R?

A. 0.02 B. 0.1

C. 0.05 D. 0.95

HZ T X ST T I BT 8-

A. 0°C B. 273K
C. 373K D. 273°C

frfafaa & @ s varafiens sl f
T uftad & ohar 82

A T
B. I
C. @rsar
D. 37§ & IE T

fatig R = V/1 A V = (100 + 5)V 3R
1= (1004 0.2) R § Sfcrera 7 2-

A 7% B. 3%
C. 2% D. 5%

foret forepmer o sTer sTet g femam R R, -
------- T 9 & ST BraT 2

A Hol

. e feafast o=t

B ERRIGEEE]]

= Trferst Fott 7 & feerferst it

I T ST HHL o ATTHT T et SR
T T ST 82

oo w >

B. s
D. Hifeam

A. T
C. @e®
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42.

43.

44,

45.

46.

Parachutes are made up of which type of

fibre?

A. Rayon
B. Nylon
C. Polyester
D. Acrylic

Gold is mixed with Copper-
A. To make gold soft

B. To make gold more yellow
C. To harden gold

D. To give gold shine

Which of the following is not a water
pollutant?

A. Chromium
B. Silt

C. Glacier
D. Arsenic

The angle between an incident ray and
the plane mirror is 30°. The total angle
between the incident ray and reflected
ray will be-

A. 30°
B. 60°
C. 90°
D. 120°

“Green Muffler” is related to-
A. Soil Pollution

B. Noise Pollution

C. Air Pollution

D. Water Pollution

43.

44,

45.

46.

RIRE fohdt TohTL o6 $R1T § ST STt &2
A, ©F

B. Arc

C. diferusez

D. Ufshfcieh

T T i o |y e forear S g----
A. HH HI TH s & foTg

B. | T 3R AT s o Ty

C. TN &I F3X sM & [y

D. | ! =H oo % folT

Frfefad # & i St g el 22

ATYfad foRToT 37T THa 9T o sfi=r T
HI0T 30° BT 81 STafae fortor 3 wrarfda
fertor 3 sft=r 3t Sh1oT BT

A. 30°
B. 60°
C. 90°
D. 120°
A. FRTIEOTH
B. & ¥y H
C. g ugUId
D. ST gy

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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47. When evaporation and condensation
rates becomes equal then it means that
the system is in a state of-

A. Equilibrium
B. Unstable
C. Stable

D. Neutral

48.  What role Human plays in Food Chains?
A. Producers
B. Consumers

C. Humans do not involve in food
chains

D. Decomposers

49.  Which of the following is the major
reason for algal bloom?

A. Presence of heavy metals

B. Contamination of pathogens
C. Eutrophication

D. Soil erosion

50.  Assertion — Oxygen is a pure substance.
Reason — Oxygen is always found in
combined state.

A. Both Assertion and Reason are
correct and Reason is the correct
explanation for Assertion

B. Both Assertion and Reason are
correct, but Reason is not the correct
explanation for Assertion

Assertion is true but Reason is false
D. Assertion is false but Reason is true

O

47.

48.

49.

50.

STeT TS eRTuT ST Ho shl g SIeit &1 STt
2, 1 35 Ados & foh gomedt feafd - &
2l

B. 3ffer

C. fert

D. Sewi

Tl 3T § e 3 T fHeR 82
A IEH

B. 3UHIH

C. T WTe *ge & e T8 &
D. 3THeH
FFATTRad o & i | et Tepe
T HHT &7

A. W ATl ol Sufef

B. TSI oAl HguoT

C. gumo

D

D. fugh e emor

AR — SRS T I[5 TeTd 2

SHTLOT — STeRATSI W Hh SRl  TT

ST &)

A. SR 3R o ST w8, 3R
HTOT, SR 1 e S §

B. 3y 3 HRUr AT g8l 8, I
HTOT, TR T el AT Tl T
g

C. ATH e & T FRVT 3T 3
D. HTHHIT 3T & T FIT A &
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51.

52.

53.

54,

55.

Excessive use of fertilizer causes -----
A. Soil Pollution

B. Water Pollution

C. Air Pollution

D. All of the above

Which of the following organisms can
fix Nitrogen?

A. Plants
C. Fungi

B. Fish
D. Bacteria

A wave propagating in gas medium-
A. Must be longitudinal

B. May be longitudinal

C. Must be transverse

D. May be transverse

Which of the following physical
quantities has neither units nor
dimensions?

A. Relative velocity
B. Relative density
C. Angle
D. Energy

An electric motor is a device which
transforms-

A. Mechanical energy into electrical
energy

B. Electrical energy into mechanical
energy

O

D. Electrical energy into potential
energy

Kinetic energy into potential energy

ol.

52.

53.

54,

55.

Jelteh o AT T H BT ® -
A. T&T RO

B. ST ugO
C. argugyT

D. 39 @l
frferfaa & & = 1 Sfia Tmegiem
feerdyertoT T TehaT 27

A. T B. "o

C. &ash D. sffamo

el aTery O =i aTeft ad-

A. §3F st gt

B. 3Tfaed & wehdi g

C. T ST Bt

D. TIE 8 Hohell §
frferfaa & & forar siifaes wfiT Ay Tt
T & 3 € fermma?

A. 3Tufees

B. 3mifareh oca

C. @I

D. Il

ferera Hiex Ueh IUERLOT & ST T sheaT -

A. i st 1 Faege et
B, fererr St o1 a1iies oot &
C. st gt o Reefere ot &
D. feres St a1 Rewferr ot &
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56.

S7.

58.

59.

Which of the following physical 6.

quantities has same unit in all the three
system of units?

A. Mass
B. Length
C. Time
D. Velocity

Choose incorrect sentence- o7.

A. Energy can neither be created nor
destroyed

B. In chemical substance elements
present in definite proportion

C. Ammonia molecule made by
hydrogen and oxygen

D. Water does not have any particular
texture

Which of the following is not biomass 58.

resource?

A. Animal wastes

B. Forestry residue
C. Agricultural residue
D. Sunlight

On moving from left to right in a 59.

periodic table, size of an atom-----
A. Increases

B. Decreases

C. Does not change

D. First increases then decreases

frferfaa o @ fopar siifaes wfsr =1 A,
T AR YoTTfor 8 Weh & 22

A. STEM

B. @

C. wg
D. &

TTAd ST T

A. S I T a1 ST ST FehdT & ST T
a9 forar ST ERAT

B. ik were H qea fiaa tqua |
Jufderd & &

C. I T A BTEGISH I SHTefisH
o AT &

D. 9 sl SIS @E 1EE el =it
freferRad & 9 s a1 SasuH gary T
27

Y] SqRIY

ClECTRCCL)

EARICEN L)

CREER

o o w >

3HTe |t H ¢ § 374 ST 9T T TR

C. A&l agerar
D. Ug ST ¢ ft gear @
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60.  An induced emf is produced when a 60. Sfed forva d Ieq=T BIT & ST T& <eTeh bl
magnet is moved into a coil. The et % I o ST ST 21 3 e w5
magnitude of induced emf does not Oﬁ .
depend on- Fonie e e -

A. The speed with which the magnet is A. 9 Tt foresh Erer <fereh A1 wemiafe
moved forar ST @
B. The number of turns of the coil B. shec % guiat i d@an
C. The resistivity of the wire of the coll C. 0 3 Y TR
D. The strength of the magnet '
D. e I Witk
61. Natural Phenomenon like fog, mist or 61. e, e AT It 6l ek TS
frost are caused due to- T -
A. Evaporation A 5
B. Transpiration
. B. aTSTIcESH
C. Freezing
D. Condensation C. fertern
D. &My

62.  Which of the following shows 62. fymfefaa & @ o @1 1= gl
Reduction? aTiar &9
A. Gain of oxygen PN o e——

B. Loss of oxygen . Sy

C. Gain of hydrogen B.

D. None of the above C. BIEGISH e
D. 39 | ¥ IS Tal

63. The phenomenon “Marble Cancer” can 63. Hrelet HET it FeAT foheh T Bt 82
cause due to- A S
A. Carbon dioxide P
B. Carbon Monoxide B. ;

C. Sulphur dioxide C. T STRIATHIES
D. Hydrogen D. RSN
SPACE FOR ROUGH WORK / T% & & fo13 siire
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64.  During summer, water kept in earthen 64. f o for 7 gt o o o @t fore

pot becomes cool because of the HeAT % 0T ST B ST 20
phenomenon of-
A. diffusion A SR
B. transpiration B. aTSqieErSi sk
C. osmosis C. Jgua
D. evaporation D =T
65. The law of Octaves is given by- 65. 37k T o - T fear T R
A. Mendeleev A Tehg
B. Newl .
ewlands 5 j\
C. Bohr
C. ar
D. Mosley
D. Hi&d

66. The basis of classification of elements in 66. aryfeh AT WOM & T o STeRLOT 1
the modern periodic table is- ST B-

A. Atomic volume
A. T AT

B. Atomic density
. B. T &
C. Atomic mass
D. Atomic number C. THIS=IHM
D. AT HEdT

67. A tripositive ion has 23 electrons and 30 67. s BremTeHes 3R H 23 SR SR 30

neutrons. What is the atomic mass of the :"g':f@%%' WWWTUOTWHW%?
element?

A. 56 A. 50

B. 53 B. 53

C 50 C. 50

D. 55 D. 55

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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68.

69.

70.

71.

72.

On converting 25°C, 38°C and 66°C to
Kelvin, the correct sequence of
temperature will be-

A. 298K, 311K, 339K
B. 298K, 300K, 338K
C. 273K, 278K, 543K
D. 298K, 310K, 338K

Petroleum is found under the-------
A. Sedimentary rocks

B. Water
C. Sand
D. Coke

How many resistors are needed to obtain
a 2 ohm resistance using only 6 ohm
resistors?

A 2
B. 3
C. 4
D. 6

Air is an example of -------

A. Paramagnetic material

B. Diamagnetic material

C. Ferromagnetic material

D. Antiferromagnetic material

Covalent bond is formed by-
A. Accepting electron pair
B. Donating electron pair
C. Sharing of electron pair
D. Sharing of lone pair

68.

69.

70.

71.

72.

25°C, 38°C TAT 66°C i shicad H sIged T
ATIHT T 921 ShY BT

A. 298K, 311K, 339K
B. 298K, 300K, 338K
C. 273K, 278K, 543K
D. 298K, 310K, 338K

Y iferan foherh St aTa ST 82
A. TASA T

B. UHT

C. @

D. &%

had 60 T BT T b 2 Q)

e ITH S ok forw, ferae wferiet shr
ST 22

A
B.
C.
D.

o b WDN

C. SAFRH I hl grEiery
D. TehTehl I ohl HTET AT

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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73.

74.

75.

The number of atoms constituting a
molecule is known as its-

A. Coordination Number
B. Atomic Number

C. Molecule

D. Atomicity

When Neils Bohr shook hand with
Werner Heisenberg, what kind of force
they exerted?

A. Gravitational
B. Electromagnetic
C. Nuclear

D. Weak force

A wire of length |, made of a material
having resistivity p is cut into two

equal parts. The resistivity of the two
parts are equal to-

A P
B. p/2

C. 2o
D. 4p

73.

74.

75.

EHEEIEEIC RIS RE C2 e —
& H STHET STl 2-

A. GHST &A1

B. TR HET

C. A7

he)

D. YIHIvIGar

D

SEEIGECIRECEISESEEUR IR IR
A I Tohe ThT oAt STl ITTIT?

D. &fioraer

p TfcRIErehdT aTel UeTel | 59 | eTE & Tk
AR T &1 SRS AW § h1eT ST 2 &1
T ST SfoRTershar 2-

A P

B. p/2

C. 2p

D. 4p

SPACE FOR ROUGH WORK / &% &Td & for&r sre

20362-XNY-PRV-JIN-M1

50 SetA



PART - 11

Mathematics wfora
76.  The binary number 11000101 has ------ 76.  qrEl SR 11000101 F ------ E1EA
byte. A1
1
B 2 B. 2
C. 4 C. 4
D. 8 D. 8
77. The point (—1,—-2)(1,0)(-1,2)(-3,0) 77, fog (-1,-2)(1,0)(-1, 2)(-3,0) @ Ffa
from a quadrilateral of type- a‘gﬁaaﬂwé-
A. Rectangle NSO
B. Square B i
C. Parallelogram
D. None of these c. Wa@iﬁ
D. & & % el
78.  the square root of 0.0049 is- 78.0.0049 3T ST BRTI-
A 0.7 A. 07
B. 0.07 B. 0.07
C. 0.007 C. 0.007
D. 7.0 D. 7.0
s Whatisthevalueofz'[L;300 . waﬁrmwﬁﬂ-
1+tan® 30° 1+tan® 30°
A. sin 60° A. sin 60°
B. sin 30° B. sin 30°
C. cos45° C. cos 45°
D. cos 90° D. cos 90°

SPACE FOR ROUGH WORK / &% &Td & for&r sre

20362-XNY-PRV-JIN-M1 20 50 Set A



80. The points (-5, 1) (1, P) and (4, —2) are

81.

82.

83.

colinear if the value of P will be-
A P=2

B. P=1

C. P=-1

D. None of these

A cylindrical pencil sharpened at one
edge is the combination of-

A. Frustum of a cone and a cylinder
B. A cone and a cylinder

C. A hemisphere and a cylinder

D. Two cylinder

The slope of the line passing through the
points (3,-2) and (-7,-2) is-

A 0
B. 1

Ho

D. not defined

If PQ is the diameter of circle whose
centre is (4, —2) and coordinates of P is
(3, —10) then the coordinates of Q will
be-

A. (-5,6)

° (39

C. (3,-10)
D. (5, 6)

80. fag (-5, 1)(1, P) 37K (4, —2) weEfiar &Y

81.

82.

83.

afe P 1 9 BT
A P=2

B. P=1
C. P=-1

D. 3 & IS T

T SITTHTERTE TTe Ueh foheTTY O ef T 36
1Y TS 2-

A. i fes=Teh oo sieH

B. T % Td U oeH

C. U 3TENAT Ud Ueh St

D. e

T @ i fefget (3,-2) ud (-7,-2)
e STt 2, NI

A. 0

B. 1

Ho

D. smffsg

afg PQ foreft a1 o1 = & FTerehT et
(4, —2) Ud P & fewrish (3, -10) 8 Q &
A. (-5,6)
B.

3-3)
C. (3,-10)
D. (5,6)
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84.

85.

86.

87.

The value of \/10+ \/221+ V12+416

A. 03
B. 04
C. 05
D. 06

If difference of two number is 14 and 85.

difference of square of these number is
446 then the numbers will be-

A. 23and 8

B. 14 and 432
C. 9and 23

D. None of these

Which of the points P(0, 6) Q(3, 0), R(0, 86.

2), S(-3, 0) and T(1, 2) do not lies on x-
axis-

A. Pand R only

B. P,Rand T

C. QSandT

D. Qand Sonly

Identify the correct relation if 87.

X:y:z=1:3:5
A

X

z Y( C

BC >AB>AC
BC<AC<AB
AC<BC<AB
None of these

OO0 W>» w

84.

\/10+\/221+\/12+\/1_6 1 HH BT
A. 03

B. 04

C. 05

D. 06

FET 3T TEATST T 3T 14 AT 37k ST T
3 448 B T HE&ATE BRA-

A. 2338

B. 1437432

C. 9323

D. 30 & IS T

frg3Tl P(0, 6) Q(3, 0), R(0, 2), S(-3, 0)
HRT(1, 2) 8§ Teher foreg x-a7e7 ot feora
T2 &-
A. FaA P AR
B. P,R3RT
C. Q SHRT
D. %A QUH S
CHECEREEIEIEIH
x:y:z=1:3:5

A

X

z Y( C

BC > AB > AC
BC <AC < AB
AC <BC < AB
o 9 1S T

O0W>» g
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88.

89.

90.

91.

X-5 X—3
If (Ej = (9] then the value of x
a

D. None of these

A bag has 2 red balls and 6 green balls. 89.

If we take a ball from the bag, then what
is the probability of getting red balls
only-

A
B.

W AN @

D. None of these

A line intersecting circle in two points is 90.

called-

A. Tangent

Secant

Both (A) and (B)
None

O oW

The mid point of a line segment joining 91.

two points A(3, 2) and B(5, —6) will be-
A. (-4,2)

B. (8,-2)

C. (4,-2)

D. None of these

88.

a X-5 b X-3
aﬁ(gj :(gj S
Al
B. 4
C. 8
D. 378§ s Tl
T I T 2 ATA 37 6 & 7S 81 A g0 0
T Iy T & fehTet df 9 T ATt © gHeh!
TRIshdT Bri-
A 8
B. 1
4
C. 3
8
D. 378 s Tl
Teh T Sl 3 ol & fofgat o gfcese hedt
2 FHEATdT -
A, Y@
B. ®<&
C. (A)UTd (B) Ml
D. &3 7
ar farg A3, 2) T B(S, —6) 1 SiigH ared
T@TEs 1wy foeg g
A. (-4,72)
B. (8,-2)
C. (4,-2)
D. 78 ¥ s Tl
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92. It rsine=1 and rcosd =+/3 then the 92. af¥ rsin0=11d rcos0=+/3 2
value of (\/§tan6+1) is- (\/§tan e+1) T 0 BI-
A1 A1
V3 B
B. B B. 3
C. 2 C. 2
D. 1 D 1
2 2
93.  Which of the following part of the CPU 93. CPU = f=fafad o & i a1 s e
controls the sequence of the ¥ 3R oAl il sear 22
instructions? ” i
A. AU (Arithmetic Unit) A. T, (REIEH )
B. CU (Control Unit) B. #7, (3hgie gfHe)
C. LU (Logic Unit) C. WA, (|ifsieh gHe)
D. ALU (Arithmetic and Logic Unit) D. TS, (afes vd difores afie)
9 The value of cos?0—sin20 is- 9 052 0—sin? 0 = aF EM-
A. sin20 A. sin26
B. cos20 B. c0s20
C. 1 C. 1
D. None of these D. w7 a7
95. If the length of the shadow of a tree is 95.  gfg forelt ge7 i BT I TS Hed! § A9
decreasing then the angle of elevation =TI I B
is-
A. Increasing A T
B. Decreasing B. =
C. Remains the same C. THH WM
D. None of these D. =¥ FE T
SPACE FOR ROUGH WORK / T @t & forar srire
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96.

97.

98.

99.

Which of the following is not a type of
computer on the basis of operation?

A. Digital
B. Analog
C. Hybrid
D. Remote

If the sum of the frequencies is 24, then
the value of x in the observation :

X, 5, 6,1, 2 will be-
A. 4
B. 6
C. 8
D. 10

If the perimeter of the circle and squares
are equal, then the ratio of their areas
will be equal to-

A 14:11
B. 22:7

C. 11:14

D. None of these

If asin45°=bcosec30° then the value
2%

of — is-
b4

A 22
B. 8

C. 64
D. 1

NA

96.

97.

98.

99.

frreferfiae o & o | AR % TR W
PR T T T 82

A. fefoea

~

B. TATATT

C. Trfe

D. fure

AfE ST 1 I 24 T T STTAHA
X, 5,6, 1,2 8 x T A &NTI-

A. 4

B. 6

C. 8

D. 10

e forelt ot dar ot < fefer s & ar
3% QR T ITATT STI-

A. 14:11
B. 22:7
C. 11:14

D. T &g el

afg asin45°=bcosec30° 2 al Z—j EQ)
T EATI-

N
B. 8

C. o4
D. 1

Ng
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100.

101.

102.

103.

If E and F are the midpoints of equal
sides AB and AC of a triangle ABC.
Then-

A. BF=AC
B. BF=AF
C. CE=AB
D. BF=CE

Neetu and Reetu are sisters have some
toffees. If Neetu gives 10 toffees to
Reetu they will have the same number
of toffees but if Reetu gives 20 toffees
to Neetu then Neetu will have twice the
number of toffees than Reetu. Then the
number of toffees Neetu and Reetu will
have are-

A. 90and 100
B. 100 and 80
C. 70and 90

D. None of these

The symbolization for a conjunction is-
A P—(Q

B. p&q

C. bvq

D. =P

What will be the area of parallelogram
with base 22cm and height 44cm?

A. 9gg8cm?
B. 978cm2

C. 9p8cm?

D. None of these

100.

101.

102.

103.

afe E 7o F forelt Brgst ABC ot STt
AB Td AC % #edfofg & -

A. BF=AC

B. BF=AF

C. CE=AB

D. BF=CE

A S A &1 wre 81 AT o o % 2Tt
2afefiq 10 Rt fg A e AT &
T 2T sh! AT SeR 81 ST § 37K S
3, 1 1 20 SITRAT <t & 1 g o e
O @ STt TR &1 STl 21 e, i A
8 ok T TRt Bl

A. 9037 100

B. 100 3R 80

C. 70390

D. 3 & IS T
HASH o foT Srefte 2-
A. P—>qQ

B. p&q

C. pvq

D. =P

FHTR SIS T & FT ST TRt
TR 22 Al U TS 44 Tt 2-

A. o9gg auf
B. 978 ot

C. 968 arft
D. &0 & &IS Tl
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104.

105.

106.

107.

If the points A(1, 2) B(0, 0) and C(a, b)
are colinear then-

A a=2b

B. 2a=D

C. a=b

D. a=-b

Ten solid sphere are made by melting a
solid metallic cone of base diameter

4cm and height 10cm. The radius of
each sphere is-

A. 1cm
B.

D. None of these

The perimeter of a circle having radius 5

cm is equal to-
A. 30cm

B. 3.14cm

C. 31.4cm

D. None of these

The slope of a line perpendicular to the
line passing through the points (2, 7)
and (-3, 8) is-

A. —%
C. -5
D. 5

104.

105.

106.

107.

afE A(1, 2) B(0, 0) T C( a, b) THE B dl-

A a=2b
B. 2a=Db
C. a=b
D. a=-b

T 31 7% TRt TR 14 4 et aTg

10 T} & T TATRT 10 31 el ST ST &,
ar I el skl s gl

A, 13
B. 1am
2
C. 1am
4
D. 378 ¥ s Tl
T <t ey et fosan 5 9t 2, 2
A. 303H
B. 3.14
C. 31.49H
D. 78 ¥ s Tl

fereft T =1 @Tet it foigadt (2, 7) wd (-3, 8)
H Bt ST ATed! {1 T o © 8-

B. %

C. -5
D. 5
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108.

109.

110.

111.

If the perimeter of a triangle is 100 cm
and the length of the two sides are

30 cm and 40 cm, the length of the third
side will be-

A. 30cm
B. 40cm
C. 50cm
D. 60cm

If sum and product of two roots in
quadratic equation is 5 and 8

respectively, then the value of o+ BZ
will be-

A. 40
B. 13
C. 09

D.%

If we change the shape of an object from
a sphere to a cylinder, then the volume
of the cylinder will-

A. Increase
B. Decrease
C. Remains unchanged
D. Doubles

If the distance between the point A(1, 2)
and B(4, x) is equal to 5 then the value
of x will be-

A. 06
B. 05
C. 04
D. None of these

108.

109.

110.

111.

aife; fopeft oyt <6t afefer 100 et e 2t
VSTTAT 26T =TS 30 Tt Tef 40 Tt BT AN
oY yfiT sh TS Bl

A. 303t
B. 409wt
C. 509t
D. 60 &

afe 5 wat § forelt fmmfort sgaa o shom:
SIITeRT % AN T A € T o2 + B2
T ETI-

A. 40

B. 13

C. 09

> %

Af foreft TTieT AT AT o ol ie |
STaeT ST AT ST T 3TRITH BT

A. S

B. =

C. smufEfdd wm

D. gMTEM

gt fog A(1, 2) T B4, x) F e shr gl 5
2 T x T HH BT

A. 06

B. 05
C. 04
D.

T IS T
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112.

113.

114.

A ladder 15 m long just reaches the top
of a vertical wall. If the ladder makes an
angle of 60° with the wall, then the
height of the wall will be-

A. 15\/5 "
2

B. 15
—Mm

NG
C. 15{3m

D. 15

2

The four logical connectives are-

A. Conjuctions, conditionals,
compounds and disjunctions

B. Conjuctions, statements, disjuncts
and conditionals

C. Conditionals, disjunctions,
negations and conjunctions

D. Conjuncts, predicate conditionals
and negations

What is the value of
cos? 20°+cos? 700 ?
A 0

B. 1

C. 1

2

D. None of these

112.

113.

114.

15 Hiex Tt Wit forelt @<t (SfTeft) o
R e a5t 81 Afe et dan & 60°
SHIOT ST & T et i Sers i

A @lﬂa
2

15

== fiex

J3

C. 153 #fix

D. 15

TR Ticheh HTSTh & (TR SATISTehet el fered
2)-

A. GarH, aufasy, e e faasy
B. AWM, M, T ud aufasier
C. aufast, forlisH, e ue €@arem
D. @, fagw, aufiey wd fugs

cos? 20°+cos? 70° T T BATI-
A. 0
B. 1

C. 1

NA
D. & & &H1S Tl
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115. If the lines 2x —3y+7 =0 and 115. gfg@md 2x -3y +7 =0 T

2x+Ky+6=0 are perpendicular to 2X + Ky +6 =0 398 T & & of K T
each other then the value of K is- o 21-

A4/ Ay
B. 3/ 5. 3,
c. 1 ¢y,

D. None of these D Sﬁﬁaﬁéqﬁ
116. In aright triangle, the longest side is- 116. forell GwshioT Fyst  @erd el 9[SiT 2l 8-
A. Perpendicular A &
B. Hypotenuse B a0t
C. Base
C. AHUR
D. None of these
D. 3T ¥ &5 &l
117. 1f the lines representing the pair of 117. 3y weffeor s W agX +byy+c =0 3R
linear equation a;x +byy+c; =0 and a,% +boy +Cy = 0, FaTe Tt e
a,X+boy+Cy =0 are coincident, then- Foft af
A ﬂ:ﬂ:i A. a1 bl C1
a2 b2 & a b o
B. ﬂ:ﬂic_l B. ﬂ—ﬂ;ﬁi
do b2 Co a, - b2 Cy
C a_b C.a_by
do b2 a, b2
D. None of these D. R FETE
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118. The mode and mean is given by 6 and 7 118. fc srgeter Uel HIed SHHRT: 6 W& 7 Bl al
respectively. Then the median is- qTfeehT T O 1=

A. 1% A 1%
B. 2% B 2%
C. y

3 C. %

D. None of these D Sﬁﬁaﬁéqﬁ
119. The arithmetic mean of x, X + 3, X + 6, X 119. Ffex, x +3,x+6,x+9, x + 12 T AT
+9and x + 12 is 10, then the value of x qTeT 10 ® 99 x o7 HH 81Tl
will be-
A 1 A 1l
B. 2 B. 2
C. 6 C. 6
D. 4 D. 4
120. If the point (1, K) divides the line 120. =fe farg (1, K), a1 ferg P(-1, 7) wd
segment of point P(-1, 7) and Q(4, -3) Q(4, —3) I ST ATl [T H1 2 : 3 I
|br:a_the ratio 2 : 3 then the value of K will ¥ fnmh S L
A. K=0 A. K=0
B. K=1 B. K=1
C. K=2 C. K=2
D. K=3 D. K=3
121. 1f the perimeter and the area of a circle 121. ofg foreft g i ufifer ua &mwat o 7
are numerically equal then the radius of ST 59 O SO &1l o 61 B
the circle is- St :
A. 2 units
: A. 23
B. m units
C. 4units B. ¥R
D. 7 units C. 43HT8
D. 73%E
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122. | log 27 = 1.431 then the value of log 9 122. Ffglog 27 = 1.431 2 log 9 T A BNTI-
is-

A. 0.954
A. 0.954
B. 0.945
B. 0.945
C. 0.958
C. 0.958 . .
D. 8 ¥ &g Tl
D. None of these

123. If 40% of x is same as 30% of y then 123. Ifg x T 40% TS y T 30% T THH § al
X:yis- X:yalo'[ﬂﬁﬁjﬂ-

A 3:4 A 34
B.4:3 B. 4:3
C. 17:16 C. 17:16
D. 16:17 D 1617

124. The ordinate of all points on the y-axis 124,y s7e1 o gl formgaft bt apife -
will be-

A 0
A 0
B 1 B. 1
C. 2 C. 2
D. Any Number D. &g &

125. |n which ratio, x-axis divides the line 125. forgal (3, 2) W (1, -5) I SiigH aredt
segment which joins the points (3, 2) @REE 1 x-377 Forg amara o frfoa
and (1, -5)- FAT 27 )

A 2:5
A 2:5
B. 4:7
C. 3:2 B. 4:7
D. None of these C. 3:2
D. A1 Tt

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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126. How many tangents are possible to draw 126.  foreft o o et feerd foig @ o ol fehet

through a point which is lying inside the Tyt Tt it ST wehdt 2-
circle?
A. One and only one A TS =
B. Exactly two B. ikl
C. No tangent C. IS T3t @ &t
D. None of these D. T FE T
127. Two vertices of a triangle are (3, -5) 127. g Br< 6 21 9N (3, -5) W (-7, 4) 3 a1

and (-7, 4) if its centroid is (2, —1) then

the third vertex will be-

HEST (2, —1) © et 3 o fdwries 8-

A (10.2) A. (10,-2)
5. (10,2 B. (10,2)
. (10,2
C. (-10,2) ¢ (10.2)
b, (10 2) D. (-10,-2)
128. The number of solution of equation 128. qHisur 5secH—13=12tan O & F-adret
5sec0—-13=12tan® in interval [0, 2] [0, 27] & foFe gt 9
Is-
A. Th
A. One
B. Two B. &
C. Zero C. @
D. Four D. IR
129. The general solution of sin20=0 is- 129. sin20 =0 T AW B &-

A Tinel ATy

2 2’

2nmt;nel B. 2nt;nel

nwt;nel C. nt;nel

(Zn;rl)n;nel D. (2n+l)7t_nEI

2 k)

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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130. A dice is thrown in the air. The 130. uek 99 I BaT H ISTAT 1| foww g g

probability of getting odd number is- F T ITfrehdr 21-
A. % A1
2
B. g B. 3
2
c. 3 C. 3
D. 4
D. 4
131. Which of the following is not true- 131, 399 U M T U TT el 2-
A. Rational number are closed under A. TN F ST e e G ©
addition
B. Rational number are closed under B. W i 8
subtraction C. TUH % SFarTd IRHT G Holeh ©
C. Rational number are closed under D. T 3 Sl gl diet g 2
multiplication '
D. Rational numbers are closed under
division
132. If cos(a+B) =0 and sin(a—PB)=0 132. afg cos(a+P) =0 T sin(a—P) =0
then the value of o and § will be- o 3T B T HH ST
A. a=90°3=0 A a=90°B=0
B. a=45°f=45° B. o =45°p=45°
C. a=45p=90° C. a=45°pB=90°
D. None of these D. 99 4 1S T2l
133. The missing term in Arithmetic 133. EHTR it § qH UE B
progression AP - 13 3
AP : , 13, .3 T ’
A. 11and9 A 11319
B. 18and 8 B. 18378
C. 17and 9 C. 1739
D. 18and 9 D. 183:ﬁ-{9

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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134.

135.

136.

137.

If the surface area of a cuboid is

108cm?. Find the height of the cuboid,

if the length and breadth of the cuboid is
6 cm and 3 cm respectively-

A. 8cm
B. 4cm
C. 2cm
D. 6cm

The area of a rectangular field is 150 sq.
units. If its perimeter is 50 units its
dimensions (length and breadth) are-

A. 2,75
B. 5,30
C. 3,50
D. 10,15

In triangle ABC, if AB = BC and
ZB=70°, then ZA will be:

A. 70°
B. 110°
C. 130°
D. 55°

If the roots of the quadratic equation

9x2 +3Kx + 4 is same then the value of
K is-

A 2
B. £3
C. #4
D

. None of these

134.

135.

136.

137.

af RReft =rTeT 7 e ST 108 T 2

Al AT Sl SIS 1 ShifSTu) ey sht ders
TS <SS ShAT: 6 9H) T 3 At )

A. ot
B. 4%t
C. 2@t
D. 6%t
Teh STTIATRT & T &% 150 7 TS 2

afe gehT TRHETT 50 3oRTE & 1 SAelTS, e
ey

A. 2,75
B. 5,30
C. 3,50
D. 10, 15

afe forelt B[St ABC § AB = BC @@
/B=70° T LA T HH I:

A 700

B. 110°
C. 130°
D. 55°

e et 9x2 +3KX + 4 § K T HF
T GRTT AT a7 FEAeR0T 36 T HHH 2-
A 2

B. £3

C. +4

D. 6 d S 8l

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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138.

139.

140.

141.

What is the binary equivalent of decimal
number 75?

A. 1101001
B. 101001
C. 100101
D. 1001011

Construction of a cumulative frequency
table is useful in determining the-

A. Mean
B. Median
C. Mode
D

. None of these

The area of triangle with vertices
(a1b+c)(byc+a) and (cja+b) will be-

A. Zero
B. (at+b+c)?

C. a+b+c
D. ab

If the value of o+ =90° and
o ;B =2:1 then the ratio of cosa to
cosf

A 1:2
B. \/§:2
C. 21
D. 1:\3

138.

139.

140.

141.

RIS EAT 75 3 A5 THIH HT 7

1101001
101001
100101
1001011

oo w >

et STTafy arfereht st fAmor e Td
o 3yt 8-

A. T

rfeRreRT

ERNED

. FHHHIE A

fiduTisR (ajb+c)(byc+a) T (cia+b) &
& Pyt o &kt 2r-

A. Zero

O O W

B. (a+rb+c)?

C. a+tb+c

D. ab

A a+B=90°TH a:p=2:177m
cosa ® cosf T ST BATI-

A 1:2

B. 3:2
C. 21
D

- 1:J§

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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142.

143.

144.

If the length of a rectangle is increased
by 10%, then its area will increase by-

A. 5%
B. 20%
C. 10%
D. None of these

ABCD is a parallelogram in which

AB =12 cm, AC=30cm, BD =18 cm.
The area of Triangle AOB, where O is
the intersection point of diagonals will
be-

A B

72 cm2
67.5 cm?

D
A.
B.
C. 68 cm?

D. None of these

Which ray is least deviated by prism?
A. Violet

B. Red

C. Green
D. Yellow

142.

143.

144.

afe forelt STrra &Y <9TE 10% ser <t e ar
SHERT &Rt o6 ST

A. 5%

B. 20%

C. 10%

D. 3 & IS T

ABCD T qHHT=R =4t & o

AB = 128, AC = 30 9+t BD = 18 @]

ate O forepoTt o1 wideee foig 2 a1 gt
AOB T &% BITI-

A B

A. 73y
B. 7.5 %
C. egomft

D. 78 ¥ s Tl
fSrom g o hn fomarfora e et fomor

oy

ST
NI

&l
diedt

o o w >

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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145. One of the method for determining
mode is-

A. Mode = 3 Median — 3 Mean
B. Mode = 3 Median — 2 Mean
C. Mode = 2 Mean — 3 Median
D. Mode = 3 Mean — 2 Median

146. |f cosx = % then the value of tan X is-

A.ﬁ
2
o 5
3
C.ﬁ
2

D. None of these

147. Find the side of the cube whose surface

areais 216m?-

A. 7cm
B. 8cm
C. 6cm
D. None of these

148. Which of the following cannot be
determined graphically?

A. Mean
B. Median
C. Mode
D. None of these

145.  sgereh ST i sl Th faer &-

gk = 3 WA — 3 HTE
g = 3 HIfeehT — 2 HIeY
STgTeh = 2 T — 3 Hifeaeh

o o W >

g = 3 HIEA — 2 HIIeHh

146. gfe COSXZ% %?‘ﬁtan XEFTII'F-T@TIT-

A

D. & & &h1S Tl

147. o= i =i g1 Shifre forersh Hag e

216 T 2-
A. 79t
B. &t

C. 6ot

D. &9 &g el

148. far= 4 9 i arhi fafer & 72 femrerr s

GehdT?
qreq
ATfeTeRT

ERNED

. ETH U I e

o 0w »

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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149. Statement 1 — A bit in computer 149. o — | SR SreaTacH | fofe a1 37 A1
terminology means either O or 1. 0T BRI
Statement 2 — The binary equivalent of
decimal number (19),, is (10101),

A. Statement (1) is true but Statement

T — 2 TIHAS TEAT (19); T SAEHT
I (10101), FaT R

(2) is false A, FUT (1) T & T H (2) I8 &
B. Statement (1) is false but Statement B. A (1) W%Ww (2)TT?
(2)1s true C. SHI&HIT (1) & (2) TI
C. Both Statements (1) & (2) are true ' ) ( )QET( )
D. Both Statements (1) & (2) are false D. I (1) T (2) IHA B
150. The slope of a line which makes an 150. foreft Tt St @TeT I GFTeHeh e o x 377 ©
angle of 30° with the positive direction 3Oomwm§, -
of x-axis is-

B%f Byf
D?f D/f

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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Time for making answers : 3 Hours

e

1. 39 9T qREaeht § 150 T4 § | T T4 01 37 T § | AT Te¥ 5 hAT AETE ¢ |

50| SETA

arr | fEreror ot HY T | 3w
1 | = 75 75
I | o 75 75

2. T S I, 9 T OMR ITRIE (IFEREiT) W eifera i |

3. RUTCHR odieh T8l {haT ST |

4. Tordt ot TE o FeTHeIe IT AN el Uat HIaTgel Wi T T Sfd & |

Frfereraw 3fek : 150
Maximum Marks : 150

5. OMR STNE (TFETINE) T TTNT Tl THA UVHT RIS AATTUTHT T hi/ald 0@ T8 e = a1
3ad uig a1 faerae e ug 9 s weas g T e 9 |

Note :

1. This question booklet contains 150 question. Each question carries 01 mark.

All questions are compulsory.

Part | Particular No. of Questions | Marks
| Science 75 75
Il | Mathematics 75 75

o k~ N

No negative marking will be done.

not get torn or spoiled due to folds or wrinkles.
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